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Two pipes A and B can fill a tank in 45

minutes. If pipe A can fill an empty

tank in 1 hour, how | ill it tak
ank in 1 hour owongW1lae3 @-—/760

pipe B to fill the empty tank?
& UTST A 3T B Ueh ¢ehl @Rl 45 T O

T Thd 21 AT ITST A Ueh WTAT &k hi
1 ¥ H 9 HehdT g, A7 A12T B i @I
o T T | FohaT @wT e

(CPO 2018)

(a) 2 hours

(¢) 1 hour (d) 4 hours




y MISSION SSC 2023 /BTN [ IV

Pipe A can fill a tank in 16 minutes and pipe B @ A —+ 6 7% g
empties it in 24 minutes. If both pipes are opene

m—

simultaneously, after how many minutes should

B be closed so that the tank is filled in 30 1 lqé@
minutes? — @
A+

UTST A Ueh ¢4k St 16 e & 91 Terdt € 2R utsw

sG]
B 38 24 fume W @relt &t 2ar 81 afe S utgat w6 il

Tk AT GIEAT ATAT &, 1 [eha fide a1e B & &g WH- 3 Do) =
&Y ST ITIRT dTfeh ek 30 e T s STu?
(CPO 2018) s

@mi(b) 20 min (c¢) 15 min (d) 18 min




y MISSION SSC 2023 /S VTN [ IV

Pipes A, B and C together can fill a cistern in 12 @ @ )Z/h — [2_/(

hours. All the three pipes are opened together for
4 hours and then C is closed. A and B together )
|1 a» -

tak@rs to fill the rmaining part of the I 7 X —7 g f <
cistern. C alone will ﬁlf the cistern T
in:

UTET A, B 3 C fireTent U dehl st 12 52 1 91 I\_ZBQJ/LV‘/

e 1 et T e 4 e e | C= @ >

ST & 3T {0 C Rt o o e AT 21 A 7R B " ?‘?:@
fHeTeRt Zeht o 19 WIRT Bl 9T | 10 e T THT oid 0o 4

31 C ariher drer 3 a1 forard e By oo =5

(a)50 hr  (b) 60 hr (d) 48 hr




A tap can fill a tank in 4 hours. Another tap
can fill the same tank in 6 hours. If both the 3
taps are opened at the same time, then in how 7
much time will the empty tank be filled @

completely?

Teh et Torelt ¢ehl ol 4 ©¢ § W3 TehdT 81 TE
T I Ehl T 6 T H WX THaT g A ST 7oA
Tk &1 90T W T QU A1, a1 @ret eht foraq
U | O g WATA? SSC CHSL

12/08/2021 (Shift- 1)
(a) 3h (b) 2 h 24 min
(¢) 2 h 30 min (d) 2




y MISSION SSC 2023 /TN [ IV

Tap P can fill a cistern in 6 hours and ta
: P35S p L0

Q can empty the full cistern in 10 hours.

If both taps P and Q are kept open —/3\ (Q N / ’
simultaneously, then in how many hours @

will the empty cistern be completely full? Q:_ 1S by
T P Uk Eohl &l 6 T W WX TehdT g 3R = —
e Q Tt ekt i 10 T W WAt ST HehdT

Z AfE ST T P AR Q Y Ueh AT A

feam ST, ° et € R T W O .

STTT? SSC CHSL 04/08/2021 (Shift- 01)

(a) 16 (b) 18 (c) 12




A pipe can fill a tank in 15 hours. Due

to leakage in the bottom it is filled in 20 l’( A — 'S h
hours. If the tank is full, and the pipe is Co
closed, how much time will the leak take E A — B> & o Lﬂ/

to empty the entire tank?

Ue UTey RRE ST R 15 He H wEawRaT,. | ) S (3 £o

1 Tt H AT §1 o hR0T 9 20 G H — Cohr
WX ST 81 AT Sk W AT &, AR U1 —— —
dig &, a1 feama o¥ 3k i @relt e §

feraT Twa @mT?

SSC CHSL 02/06/2022 (Shift- 02)
a) 60 hrs (b) 50 hrs (c¢) 40 hrs (d) 30 hrs
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Two pipes A and B can fill an empty tank
in 10 hours and 16 hours respectively. q A -/ ’ ©
They are opened alternately for 1 hour S/-

each, opening pipe B first. In how many

hours, will the empty tank be filled? g
T UTST A TR B Ueh ©TAT Sh hIHAI: 10 [ S
o2 i 16 92 § s wed B SR Aty
T 1 G¢ % 10 @ierr SImar 2, uget urga @

B <hl TITAT SATAT g1 ©TeAt Eehl Tt s W
qot? S

~~

SSC.CGL 20/08/2021 (Shift- 02) ~ A
) 12.4b) 14.4 () 10.4 (d) 16.4




Y MISSION SSC 2023 Z8IT \\ - 04

Two pipes A and B can fill a cistern in 12 hours and S | 2
20 hours, respectively. The pipes were opened 7 G o
simultaneously, in how much time ( in hours) will the 3 X

tank full of 70% of the cistern?

31 UTST A 37 B Ueh Zehl hi SRHTT: 12 ©¢ 3T 20 G H d

WX Tehd 2| UTSUT hl Ueh AT @i fear wa, foras awa

3 (52t #) Ze(70 ) e T Cor

SSC CGL MAINS 2020 Q

]ﬁ
IV REIVENOGR, d)5




y MISSION SSC 2023 /N T\ [ IV

Pipes A, B and C can fill a tank in 20, 30 and 60 A—> Do

hours, respectively. Pipes A, B and C are g——> o >éb
opened at 7 a.m., 8 a.m., and 9 a.m., ) C— (o

A 4
tank be full? A @ ﬁ@%

TET A, B X C Uk ¥ 1 hmwT: 20,30 3w oo [T 4P TRV
‘ai%f’rmm%mmA,Baﬁ'{cmﬂa.m.,sIB fg \% ‘/
a.m., 3T 9 a.m. W Tk &l & @A IATd 8| Eht @ -

e wi? q+ 4

SSC CGL MAINS 03/02/2022 _ 1) - Y

(a) 4:40 p.m. Mp.m.

S .
(¢) 6:20 p.m. (d) 7:20 p.m. 1 F M

respectively, on the same day. When will the

—
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P can fill a tank in 5 hours. Q can fill the same
N +12 P s>} S hv >
é 0

tank in 10 hours. R can empty the same tank i
—=+ 1o

, —2.0

20 hours. How much time will all the three take
together to fill the same tank? — 3 ‘f:
P U dchl &l 5 € H 9 TehdT 21 Q &Y z’ﬁm@
e W 9 HehdT & R IHT 3k Rl 20 o | WTAT o

TehdT gl AT chl Ueh TT Ueh & 2oh ohl WA oh

foTu feRaaT Twa evem?

CHSL PRE 2022

a) 10 hours((b) 4 houry (¢) 6 hours (d) S hours —
—<




Y MISSION SSC 2023 BT\ [ 3

Three pipes A, B, C can fil an empty cistern in 5\ A—> 2

2, 3 and 6 hours respectively. They are opened 2 > = 7 <
together. After what time shouldlosed, SO C— &

that the cistern gets filled in exactly@ (

11711 Vs @ iZb T’T / & *

o= UTST A, B, C Ueh WTAT cehl hl ShATT: 2, 3 @*Q N\ [
si g 2t v By A e wer g | (G724 | \@9 L
ey T AT B Y i 3T T, A e QW\)
3tk 1 6 15 faAe 7 s STe?

(CPO2019)
(a(b) 15 min (¢) 20 min (d) 45 min




/ MATHS / (©)
Pipes A, B and C together can fill a cistern in 20 hours.

. C ol >
All the three pipes are opened together for S hours and 5 F"J’ 64’} Z —224
then A and E is closed. B takes 20 hours to fill the

remaining part of the cistern. C alone will fill three — @

fifth of the cistern in: S hy /

UTSq A, B 3R C qzs’ T 12 52 H W Tehd 2l I ‘ S«Qéﬁ/L
T 9T R U 9Ty foTu @reT SiTar 2 TR fume

C o1 &g o foam st #A 3R B fretent €<ht o g ZZ\\j
T T TS T HAT A%l C 3Thet BT y

WTT ehil T U QX 2\—.

(CPO 2019) ) g 3 % 3

(a) 50 hr b) 16 hr) (c¢) 40 hr (d) 48 hr — =~

T




Pipes A and B can fill a tank in 36 hours and 48 hours,
respectively. Both pipes are opened together for 9
hours and then A is closed. Pipe B alone will fill the
remaining part of the tank now in:
UTST A 3 B Ueh ¢eh ahi SHATT: 36 E< 3T 48 He W WX
THa &1 I UTSUT ol U €T 9 Te & ToT0 @iert Srat @
3R TR A Y sig o ToaT SITaT 81 19 UTSU B 3Tehdt &k
eh T 9T hl 9O

(CPO 2019)

(a) 20.5 hrs (b) 25 hrs (c¢) 24 hrg
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Pipes A and B can fill a tank in 36 hours and 54 hours, 23 2 — 24 N

6
respectively. Both pipes are opened together for 10 5 A— Sb\7 <o
hours and then A is closed. Pipe B alone will fill the S X\o

Hehd &l ST UTSUL Shl Teh ETY 10 T & foT0 Gerr Srat 2
IR TFT A oRT &g oY F2T SATAT ) 379 UTSU B 3Tehel 2ok ok 2
I 9T <Rl ST (CTITHM)

(CPO 2019)

(a) 19 hrs (b) 25 hrs (c) 24 hrs (d) 27 hrs

remaining part of the tank now in: (approx.)
UTST A 37X B Uk ¢eh ohl SHUTIT: 36 ¢ 3N 54 G T W
\




Taps A and B can fill a tank in 15 minutes and 10 minutes,

respectively while tap C can empty the full tank in@

minutes. If all the three taps are opened together, the ta

) A— IS
t B — 1°> (2
3/8 ™" part of the tank in: R4 C-
TT A 3T B Ueh dehl ahil ShAIT: 15 A2 3R 10 M T W)
TR §, STt 7o C W 7 ¥ i x e i Tt wn weRan = g}

is filled completely in 8 minutes. Tap C alone will emp %

21 Tt AT Tt T Teh AT et fea g, 7t 26t 8 e J%d‘ o
Tt TE W ST g1 7T C 3Tehet Eehl © ‘II'I'IT‘@l'I?'ﬁEh‘{ — =
W (CPO 2019) Y

(a) 10 minutes
(b) 10.5 minutes
¢) 9 minutes
(d) 8.5 minutes




J MISSION SSC 2023 /4 4
Two pumps which can fill a tank in 16 hours and 20
hours while working alone. Gaurav opened both the @

pumps for 10 hours, 12 minutes and realized the 413

liters of water was spoiled over the ground due to
overflow in the tank. What is the total capacity of the
tank?

3N GT AT STehel ShTH A Y Tk &oh ahl 16 HE 3R 20
He H W Hehd gl TR = AT 49t <kt 10 T 12 fme o
AT SR Weaw fohaT foh & W Tiawet g1 o 1ot
413 T It STHI o FOX @ B TT 2, SR hY et
groaT feRat 22

a) 2400 litres b) 2800 litres

¢) 3000 litres d) 3200 litres
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A cistern has 3 pipes A, B and C. A and B can fill it
in 3 and 4 hours respectively, and C can empty it in 1
hour. If the pipes are opened at 3 p.m., 4 p.m. and 5

p.m. respectively on the same day, the cistern will be

empty at

Teh dehl W 3 UTST A, B 311 C 81 A 3T B 3 shT: 3
I 4 T W M Uehd &, 3T C TH 1 °E W TTeAT
TehaT g1 TS UTSY 3 T AWG, 4 T ITUTF T 97 5
It 3T T hUST: W @it AT g, 1 WAt g JAre
(MAINS 2016)

a) 7:12 p.m.

(b) 7:15p.m.

(¢) 7:10 p.m.

(d) 7:18 p.m.
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Pipes A and B can fill a tank in 16 hours and 24 hours

respectively whereas pipe C can empty the full tank in 40 @
hours. All three pipes are opened together, but pipe A is

closed after 8 hours. After how many hours, the remaining

part of tank will be filled?

UTST A 3R B Ueh ok I ShATT: 16 ¢ 31 24 6 H R Tehel &

eIfeh UT3T C WY T3 ohl i 40 TS H WAt oY TehelT 81 AT

UTSUT ekl Ueh AT T 2T ATAT &, Ti{ehd UTST A hl 8 T a1

T2 oY foaT Arar 1 foRa ¢ a1 Eht T 9 9T 9 ST

(CPO 2018)
(a) 28 (b) 22 (c) 26 (d) 30







